Algebra 1 Notes... KEY

Date:
[FX Divide Polynomials Goat - Divide polynomials.
DN IS W OB Divide a polynomial by a monomial
Divide 10x° — 25x* + 15x by 5x.
Steps:
3. Z IS
10¥ 2Sx “+1>5X
= SX Step 1: Write the division as a fraction.

This IS A medTRLSTEL

3
= lox"4 - SN . Isx Step 2: Divide each term byﬂ.
5% 5x S

A x% -sx +3 Step 3: Simplify

— —

Step 4: Check
. m:.n"'cll% Cheek bymoul+iplyine

To check your answer, 2 3 2
multiply the quotient | Sxo( Z X~ ~SXx+3 )=10x" - 25x" + 15x
by the divisor. == 3
1OX > =25 X%+ IXy (_/};
sy
e@dq‘_

o Checkpoint Complete the following exercise.

1. Divide (12x° + 9x” — 3x) by — 3x

12x 349 x 2% -3x

(f -3 X
e ~ifx % —3x +l

—
]
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Algebra 1 Notes...
|9, N1 1 d 9| 0¥ Divide a polynomial by a binomial

versus
Review arithmetic long division Long division with variables
rA
2a) Divide 81,536 by 32 2b) Divide 4x* — 4x—3 by 2x + 1 Hx"~4x-3
i) 2 x4 |
a 5 L’ % PAACTIdN
32 )fql 3,536 Ax¥ | Y2 yy-3 STEPS
1+ 5 | =2 (Hxr+2x) y GOmvu 14
E_?\/‘ _ @ so btroct
..__!__‘_'_’__9. ul\en ‘IOU\. — b‘& +5 @ br]‘n
Is 3 sS4 btveacth 4+ (:[,x—a\ g 3
—12% ¥ Chenqe +he - Swnd
515 6 SQlbtra ok SICN
_..AS'Q, +o o dditivnd ﬁo
and take the NO‘ é-"‘
o O apposive. ot / femain
whetls ©n
NO Rem ajmPe 2. Hhe ¢ IS
How can you check? How can you check?
3& xaﬂa - MvuLT (ZX"a)(ZX"’H) -
’ Z
51,530 Hy?-yx -3,

| DNV WY Divide a polynomial by a binomial with a remainder

Divide 2x* + 9x + 12 by x + 3.

I —

ZX4+3
Xt3 [Zxe+axsiz
+~ [0 4
* (Zx* +bx)
Eil D
X +1Z
+ (3n 1 Q) //

ax =+ 9x+9
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Algebra 1 Notes...

199, 9N Vi IO Y Rewrite polynomials
rewri¥e o At pax-1
descen d\na CJV"JO/‘ P!

Divide 2x— 1+ 3x* by 1 +x.

—

A+ ]?XZ‘}:QX“?'
= (3%7- +3x) }

L e
—ix -1

gy RSN
LA
O

Meatelly Ccheck
(x+2) (3x-1) = 3x Pyav-1”

| 0, C:N\Y 1 d O 0l Tnsert missing terms for “place holders” / NoTIE
o , 2 & MISuNG
Divide —24 + 6x” by —6 + 3x. e & x 2.4 X TG am
IX -k { mus+t add

@ Place

3%-6 [ Lx% + 0x —2a¢ heleer
- [T .2 + 0x )
= ((,x Slzx) |
T Jax —ad

— (]z_x —QLI)

7 [fzx-l-'f )

Ng¢ r{fﬂa?qc'.e{*

remember

men -l-cl\a eheek
(Zx+9)( 3x-0) =
CxZ -4
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o Checkpoint Divide,

2. (8-2x+x)+(2+%)

Xt-ox-¥%

xtoxes
\&

-4
X+ [xz —~2x -§&

2 g |
()
~4x -8

- (-4x —% )

-

o

3. (X +125)+(x+5)

x3+41258
X +S

_xEes) L
T ox® +OX
- (—- Sx* —a5X \

T S sx +12S

— (ZS‘X-I-IZS)

-
O
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